


Q.6 Consider the given reaction

RCOOAg —22/4 ,p R
which one of the following acid will give maximum yield of R-Br in the above reaction?
(A) CH, - CIH ~COOH (B) CH,~CH,-CH,-COOH
CH,
»
(©) CH, - C‘ ~COOH
CH,

(D) All will give same yield

,({ In the given reaction :

Q.8

Q.9

[X] + Acetic anhydride — Aspirin

[X] will be :
(A) Benzoic acid (B) o-methoxybenzoic acid
(Q(:ydroxybenzoic acid (D) p-Hydroxybenzoic acid
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Arrange following compounds in decreasing order of reactivity for hydrolysis reaction :

(1) C,H,COCI (In) NOz@COC'

)
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) cﬁ3@c001 Iv) OHC-@- C-Cl

(A) 11>V >1>11 B I>IV>TI>T OI>T>M>1V. O)IV>II>T> ]



















